## METHOD OF VARIATION OF PARAMETERS

Sunday, April 24, 2022 11:24 AM

This is one of the methods for finding the Particular Integral (P.I.) of a linear differential equation whose Complimentary function (C.F.) is known.

Though the method is general, we will illustrate it by applying it to a second order and third order differential equation.

(1) Consider the linear equation of second order with constant coefficients.  $aD^2y + bDy + cy = X$ 

i.e. 
$$(aD^2 + bD + c)y = X$$
  
Let Complementary function =  $c_1 y_1 + c_2 y_2$  then Particular Integral =  $uy_1 + vy_2$  where  
 $u = -\int \frac{y_2 X}{W} dx$  &  $V = \int \frac{y_1 X}{W} dx$  &  $W = \begin{vmatrix} y_1 & y_2 \\ y'_1 & y'_2 \end{vmatrix} \rightarrow W \text{ conskin}$   
 $M = \begin{vmatrix} y_1 & y_2 \\ y'_1 & y'_2 \end{vmatrix} \rightarrow W \text{ conskin}$   
 $y_2 = e^{2\pi}$ 

: General solution = Complementary function + Particular Integral.

$$(1) \frac{d^2y}{d\pi^2} + a^2y = secon$$

A.E is 
$$m^2 + a^2 = 0 = m = \pm a_1^2$$
  
 $\therefore C.F = y_c = c_1(osan + c_2sinan)$   
 $= c_1y_1 + c_2y_2$   
 $\therefore y_1 = cosan, y_2 = sinan$ 

Now 
$$w = \begin{vmatrix} y_1 & y_2 \\ y_1' & y_2' \end{vmatrix} = \begin{vmatrix} \cos \alpha x & \sin \alpha x \\ -\alpha \sin \alpha x & \alpha \cos \alpha x \end{vmatrix} = \frac{1}{\epsilon} \alpha \left( \cos^2 \alpha x + \sin^2 \alpha x \right)$$

Now 
$$U = -\int \frac{y_2 x}{w} dx = -\int \frac{sin a x \cdot secan}{a} dx$$

$$= \frac{-1}{a} \int fan an dn = \frac{-1}{a} \left( \frac{\log|secan|}{a} \right)$$
$$= \frac{1}{a^2} \log|cosan|$$

MODULE-1 Page 1

$$V = \int \frac{y_{1}x}{w} dm = \int \frac{\cos \omega n \cdot \sec \omega n}{\omega} dm$$
$$= \frac{1}{a} \int dm = \frac{m}{a}$$
$$\therefore y_{p} = p_{1} = u y_{1} + v y_{2} = \frac{1}{a^{2}} \log \left[ \cos \omega n \right] \cdot (\cos \omega n)$$
$$+ \frac{m}{a} \sin \omega n$$

() 
$$(y - z O + 2) y = e^{2} tann$$
  
Son": A.E.  $m^{2} - zm + 2 = 0$   
 $m = 1 \pm i$   
::  $CF = Y_{c} = e^{\alpha} (C_{1} cosn + (2 sinn))$   
 $= C_{1} e^{\alpha} (cosn + (2 e^{\alpha} sinn))$   
 $= C_{1} y_{1} + (2 y_{2})$   
 $y_{1} = e^{\alpha} cosn \quad y_{2} = e^{\alpha} sinn$   
Let  $Y_{P} = P_{1} = Uy_{1} + Vy_{2}$   
How  $W = \begin{vmatrix} y_{1} & y_{2} \\ y_{1}' & y_{2}' \end{vmatrix} = \begin{vmatrix} e^{\alpha} (cosn & e^{\alpha} sinn) \\ e^{\alpha} (cosn - sinn) \\ e^{\alpha} (sinn (cosn + (cos^{2}n) - e^{2\alpha} (sinn (cosn - sin^{2}n)))$   
 $= e^{2\alpha} ((cos^{2}n + sin^{2}n) = e^{2\alpha}$   
Now  $W = -\int \frac{y_{2}x}{W} dx = -\int \frac{e^{\alpha} sinn \cdot e^{\alpha} tann}{e^{2\alpha}} dx$ 

າ~

 $\hat{}$ 

MODULE-1 Page 2

. n

$$J W \qquad J \qquad e^{-n}$$

$$= -\int \frac{\sin^2 m}{\cos n} \, dn = -\int \frac{1 - (\sigma s^2 m)}{\cos n} \, dn$$

$$= -\int see m \, dn + \int (\sigma s n) \, dn$$

$$U = -\log[sec m + barm] + sinn$$

$$M = \int \frac{y_1 x}{W} = \int \frac{e^m (\sigma s n \cdot e^m t \sigma n)}{e^{2m}} \, dn$$

$$V = \int sinm dm = -cosn$$

$$= e^{\gamma} \cos \left( -\log \left| \operatorname{Sec} + \operatorname{tann} \right| + \operatorname{Sinn} \right)$$
  
+  $e^{\gamma} \sin \left( -\cos \gamma \right)$ 

(3) 
$$\frac{d^2y}{dn^2} + 3\frac{dy}{dn} + 2y = e^{e^{ix}}$$
  
AF.  $\rightarrow m^2 + 3m + 2 = 0$   
 $m = -1, -2$   
 $cF = y_c = c_1 e^n + c_2 e^{-2\pi}$   
 $. m = e^n$   $y_2 = e^{2\pi}$ 

$$y_{2} = e^{2\pi}, \qquad y_{2} = e^{2\pi}$$

$$W = \left| \begin{array}{c} y_{1} & y_{2} \\ y_{1} & y_{2} \end{array} \right| = \left| \begin{array}{c} e^{\pi} & e^{2\pi} \\ -e^{\pi} & -2e^{2\pi} \end{array} \right| = -2e^{3\pi} e^{3\pi}$$

$$U = -\int \frac{y_{2}\chi}{W} dm = -\int \frac{e^{2\pi} e^{\pi}}{-e^{3\pi}} dm = \int e^{\pi} e^{\pi} dn$$

$$p_{W} = e^{\pi} = t \Rightarrow e^{\pi} dm = dt$$

$$u = \int e^{t} dt = e^{t} = e^{2\pi}$$

$$V = \int \frac{y_{1}\chi}{W} dm = \int \frac{e^{\pi} \cdot e^{\pi}}{-e^{3\pi}} dn = -\int e^{2\pi} e^{\pi} dn$$

$$p_{W} = e^{\pi} = t \Rightarrow e^{\pi} dm = dt$$

$$V = -\int te^{t} dt = -\left[t(e^{t}) - \int (1)e^{t} dt\right]$$

$$= -\left[te^{t} - e^{t}\right] = -\left[e^{\pi} e^{\pi} - e^{\pi}\right]$$

$$V = -e^{\pi} \left(e^{\pi} - 1\right)$$

$$y_{1} = e^{\pi} \left(e^{\pi} - e^{\pi} + e^{2\pi}\right]$$

$$y_{1} = e^{2\pi} \cdot e^{\pi}$$

$$y_{2} = e^{2\pi} \cdot e^{\pi}$$

 $= c_1 e^{-\eta} + c_2 e^{2\eta} + e^{2\eta} e^{\eta}$ 

(2) Consider the linear equation of third order with constants coefficient  $aD^3y + bD^2y + cDy + dy = X$ i.e.  $(aD^3 + bD^2 + cD + d)y = X$   $\int (\bigcirc) \bigvee = \chi$ 

Let Complementary function =  $c_1 y_1 + c_2 y_2 + c_3 y_3$  then Particular Integral =  $uy_1 + vy_2 + wy_3$  where  $u = \int \frac{(y_2 y'_3 - y_3 y'_2)X}{W} dx$ ,  $v = \int \frac{(y_3 y'_1 - y_1 y'_3)X}{W} dx$ ,  $w = \int \frac{(y_1 y'_2 - y_2 y'_1)X}{W} dx$ Where  $W = \begin{vmatrix} y_1 & y_2 & y_3 \\ y'_1 & y'_2 & y'_3 \\ y''_1 & y''_2 & y''_3 \end{vmatrix}$ 

: General Solution = Complementary function + Particular Integral.

$$(D^{3}+4n) y = 4(ot 2n)$$
  
Solv: A.E.  $M^{3}+4m = 0 = m = 0, \pm 2i$ 
  
 $\therefore y_{c} = CF = c_{1}e^{02} + (2\cos 2n + (3\sin 2n))$ 
  
 $= c_{1} + (2\cos 2n + (3\sin 2n))$ 
  
 $= c_{1}y_{1} + (2y_{2} + (3y_{3}))$ 

$$W = \begin{cases} y_1' & y_2 & y_3 \\ y_1'' & y_2' & y_3' \\ y_1'' & y_2'' & y_3'' \end{cases} = \begin{cases} 1 & (052\%) & Sin2\% \\ 0 & -2Sin2\% & 2(052\%) \\ 0 & -4(052\%) & -4(5in2\%) \end{cases}$$

$$= 8((\sigma s^{2} 2^{n} + s r^{2} 2^{n}) = 8$$

$$PI = 9p = (191 + 192 + 193)$$
Now 
$$U = \int \frac{(92 y_3^2 - 93 y_2^2) \times dn}{10} dn$$

$$= \int \frac{(\cos 2\pi \cdot (2\cos 2\pi) - \sin 2\pi (-2\sin 2\pi))}{8} dn dn$$

$$U = \int (\cot 2\pi dn) = \frac{1}{2} \log[\sin 2\pi]$$

$$\int (\cot 2\pi dn) = \frac{1}{2} \log[\sin 2\pi]$$

MODULE-1 Page 5

$$= \frac{1}{2} \log |\sin 2\pi| + \cos 2\pi \cdot (-\frac{1}{2}) \left[ \log |\cos 2\pi - \cot 2\pi| + \cos 2\pi \cdot (-\frac{1}{2}) \left[ \log |\cos 2\pi - \cot 2\pi| + \cos 2\pi \right] \right]$$

•

$$\omega = -\int c\sigma s^{2n} dn = -\frac{1}{2} sin 2n$$
  
$$\therefore y_{p} = uy_{1} + Ny_{2} + wy_{3}$$

$$\omega = \int \frac{(y_1 y_2' - y_2 y_1')}{\omega} \cdot \chi \, dn$$
  
= 
$$\int \frac{((y_1 (-2 \sin 2\pi) - \cos 2\pi (0))}{8} \cdot \frac{\chi}{2} \cot 2\pi \, dn$$

= - JEOSECZRART JSinzm dr

$$= -\int \frac{\cos^2 2\pi}{\sin^2 \pi} d\pi = -\int \frac{1-\sin^2 2\pi}{\sin^2 \pi} d\pi$$

$$= \frac{1}{2} \log \left| \operatorname{Sin}_{2m} \right| - \frac{1}{2} \cos 2\pi \log \left| \operatorname{cosec} 2\pi - (\operatorname{ot}_{2m}) \right|$$
$$- \frac{1}{2} \left( \cos^{2} 2\pi + \operatorname{Sin}_{2m} \right)$$
$$\operatorname{yq} = \frac{1}{2} \log \left| \operatorname{Sin}_{2m} \right| - \frac{1}{2} \cos 2\pi \log \left| \operatorname{cosec}_{2m} - \operatorname{cot}_{2m} \right|$$
$$- \frac{1}{2}$$

$$y = y_{L} + y_{P}$$

$$= c_{1} + (z_{1} \cos 2\pi + c_{2} \sin 2\pi)$$

$$+ \frac{1}{2} \log \left| \sin 2\pi \right| - \frac{1}{2} \cos 2\pi \log \left| \cos e^{2\pi} - \cot 2\pi \right|$$

$$- \frac{1}{2}$$

$$y = -(z_{1} + (z_{1} \cos 2\pi + c_{2} \sin 2\pi + \frac{1}{2} \log \left| \sin 2\pi \right|)$$

$$Y = C + (2 \cos 2\pi + (3 \sin 2\pi + \frac{1}{2})) \int \sin 2\pi f - \frac{1}{2} \cos 2\pi f - \cos 2\pi - \cot 2\pi f - \frac{1}{2} \cos 2\pi - \cot 2\pi f - \frac{1}{2} \int c c = c - \frac{1}{2} \int c c - \frac{1}$$